1. 22 +5xy+2x-5y-3 2 AsE3|5tH?

@ (x+1)(x+5y+3) @ (x-1)(x-5y+3)
® (x=1)(x+5y-3) @(x—l)(x+5y+3)
® (x+1)(x-5y-3)

x? 4+ 5xy+2x—5y—3
= x* + (5y + 2)x — (5y + 3)
= (x+5y+3)(x-1)




2. P +3xy-x-6y-2 5 AFEH M (x - 2)(ax + by + ¢) ©|th
a+b+c o g TFotefEt

x* + 3xy — x — 6y — 25 xof ¥l F2JstH

4+ @By-1Dx-23y+1) = (x-2)(x+3y+1)
ca=1,b=3c=1

“a+b+c=5




3. -y -x+5y-6=A(x+y-3) 4, A oI

O x+y+2 @ 3x-y+2 ® x-y+4
(@)x—y—i—Q ® x-3y+2

~&B

x2—y?—x+5y-6
=x*~x~(* -5y +6)
=x2-x-(y-3)(y-2)
{x+0-3}{x-0-2)}
=@x+y-3)(x-y+2)
LA=x-y+2




4.

X2 —y? +6x-2y+8 & AFHE

a+b+c 9 3= otofet.

3

S (ax+by+c)(x+y+4) & o,

x> —y?+6x—2y+8
=x%+6x—(y>+2y-28)
=x’+6x-(y+4)(y-2)
={x-(-2Hx+ (y+4)}
=x-y+2)(x+y+4)
ca=1, b=-1,¢c=2
“a+b+c=2




5.

x? = 9y? —2x + 18y — 8% QI+

@ (x=3y+2)(x+3y+4)
® (x+3y+2)(x+3y—4)

® (x=3y+4)(x+3y-2)

Fasfsha?

@ (-3 +2)(r+ 3y~ 1)
@ (x=5y+2)(x+3y—4)

~&B

x%-9y? —2x+ 18y -8
=x2-2x-9y>+18y-38
=x? - 2x - (9y? - 18y + 8)
=x%-2x-(3y-2)(3y—4)

=(x-3y+2)(x+3y—4)

={x-@By-2)} {x+(By-

4)}




x? —y? 4+ 8x 4 4y + 12

O (x+y+3)(x-y+4) @ (x+y+4)(x-y+3)
® (x+y+2)(x+y+6) @ (x+y-2)(x-y-6)
@(x+y+2)(x—y+6)

¥+ 8x- (2 -4y-12)
=x*+8x—(y+2)(y-6)
=x+y+2)(x-y+6)




TS TFHA] 0 B2 — 2 4 2a + 2be 1 1 & Q15-EafolH?

@ (a+b-c-1)(a-b-c+1)
@ (a-b+c+1l)(a-b-c+1)
® (a+b+c+1)(a—b

@) a+b-ct)a-b+ct1)

® (a+b-c-1)(a-b+c-1)

—-c+1)

B

a?—b?—c?+2a+2bc+1
=a?+2a+1- (b? - 2bc + ¢?)
(@ + 1= (b-c)?
=(a+1+b-c)la+1-b+c)
=(a+b-c+1)(a-b+c+1)




abc+ab+ac+a-+bc+b+c+1

@® (a-1)(b-1)(c+1) @ (a+1)(b-1)(c-1)
@a+1)b+1)(c+1) @ (a-1)(b+1)(c-1)
® (a-1)(b-1)(c-1)

~&B

abc+ab+ac+a-+bc+b+c+1
=albc+b+c+1)+ (bc+b+c+1)
=(a+1)(bc+b+c+1)
=(a+1)b+1)(c+1)




9.  x?+4(a+b)x+3a®+ 6ab + 3b* = AFENSHH?

® (x+a+b)(x—a->b) @ (x+a+b)(x+2a+ 2b)
® (x+a+b)(x+2a+3b) @ (x+a+b)(x+ 3a+2b)
@) (x+a+b)(x+ 3a+3b)

x? +4(a + b)x + 3a® + 6ab + 3b*
=x?+4(a+ b)x+ 3(a + b)*
=(x+a+b)(x+ 3a+ 3b)




10 ThE A 2+ (<24 9= (3y-1)(+2)  IRalstel e a4
SEREEH

D)2x—2y+3 @ 2x-2y+1 ® 2x-3y+3

@ 2x-y+3 ® x-2y+3

B

4 (=2 +3)x-(y-1(r+2)
={x-@G-D}{x+0+2)}
=(x-3y+1)(x+y+2)

whebA] A2 Q14=90] R 2x — 2y + 3




11.

OZFA] x% — 3xy + 2y +4x -5y + 3
b)(x+cy—d) 7t FUTh & F &

D a+b=3 @ b+c=2 @ c+d=1
@a—!—c:—l ® b+d=-3

~&B

x>+ (4-3y)x+2y2 -5y +3
=3+ 4 -3y)x+ (2y-3)(-1)
=x-2y+3)(x-y+1)
ca=1,b=1¢c=-2,d=-3




12, x2—4xy+3y?—6x+2y-16 < 523l SFAEY (x+ay+b) (x+cy+d)
7 EQth ol W, a+ b+ c+d 9] GH2?

@10 209 008 @3 O

B ~
x o tiske] A 2shH,
x% = (4y+6)x + 3y + 2y - 16
=x? - (4y +6)x+ (3y + 8)(y — 2)
=(x-3y-8)(x-y+2)
a=-3,b=-8, ¢c=-1,d=2
. -3-8-14+2=-10




13. -2 +xy—2x—y+ 12 AFEfsHH?

D (x+2y-3)(x—y—1) @ +2v-1)(x-y-1)
® (x+2y-1)(x-y-2) @ (x-2y+1)(x+y+1)

® (x+2y+1)(x-y+1)

B

2 (y-2x-22—y+1
=2+ (-2)x- (2 +y-1)
=x’+(-2)x-(2y-1)(y+1)
={x+@-D}Hx-0+1)}
=(x+2y-1)(x-y-1)




14. oA x? —dxy +3y* - Tx + 5y - 8 & 15ol|ohH?

D (x+3y-8)(x+y+1) @ (x=3y+8)(x+y+1)
® (x+3y-8)(x—-y-1) @ (x=3y+2)(x—y+4)
@(x—3y—8)(x—y—|—1)

¥ - (dy+T)x+3y? +5y-8
=x>-(4y+Tx+By+8)(y-1)
=(x-3y-8)(x—-y+1)




15. o+ 2ab+ b —a—bS QSRS 5HA?

® (a+b)a+b+1) @ (a-b)la+b-1)
® (a-b)a-b-2) @@+ n)a+b-1)
® (a+b)(a+b-2)

‘ (a+b)?-(a+b)=(a+b)at+b-1)




16. x*+2xy+y® - bx -5y EsistH?

@ (x+y)(x+y-5) @ (x+y)(x+y-10)
® (x=y)(x+y-5) @ (x-y)(x-y-5)

® (x+y)(x—y+10)

‘ (x+y)?-5(x+y) = (x+y)(x+y-5)




17, %% —2xy+y? 4 2x— 2y - 32 QI5EalotH?

D (x-y=-3)(x-y+1) @ (x+2y+3)(x—y-1)
G-y +3)(x-y-1) @ (x-2-3)(x-y-1)
® (x-y+3)(x-2y+1)

B

FolA A& xof Bf HelstA
P+ (2-29)x+y*-2y-3
=22 +2-29)x+O+1)(y-3)
={x-@+DHx-(-3)}
=(x-y-1)(x-y+3)




18. x?-2xy+)?-5x+5y+4 5 A5EolctH?

@ (x-y-2)(x-y-1) @ (x-y+4)(x—y+1)
® (x+y+4)(x+y+1) @ (x+y-4)(x+y-1)

® (x-y-4)(x-2y-1)

x2—2xy+y?>-5x+5y+4
=(x-y)?-5(x-y)+4
=@x-y-4)(x-y-1)




